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1. In avillage, there are 2431 people. 926 of them are men and the rest
are women.

(i) How many women are in the village?¢

(i) How many more women than men are in the village?

(b) A crate of soda contains 24 bottles. Amina has é crates, how
many bottles of soda does she have?
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2. Study the price list below and use it to answer the questions that

follow.
ITEM PRICE
1 Kg of sugar sh.4000
1 loaf of bread sh.3500
1 litre of milk sh.2400
1 ruler sh.2000

(a) What is the most expensive item?
(b) Find the cost of 2 loaves of bread.

(c) How much more money does a litre of milk cost than a ruler?

3. (a)How many bottles can fill the jerrycan?

dlitres 1 litre
2
b > "*-—._.—-""_"HJ
jerrycan boftlle
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(b) A /3 of the pupils in a class of 60 are absent. How many pupils are
are absente

(c) Add: 12/; +33/;

4. (a) Find the missing number.

(i) x7 =21

(i) 6 +

14

Yo Np NP N N N N NP Np N NP X N N N Np N X Np X Xp N X Xp X X Np X Xp NP X Xp N Ne X Xp N X Xp N Np N X Xp Np X N X N X X R N X X N X %
o Xp NP N Xp Np X Xp Np P NP X Xp Np X Xp X X Xp X Xp NP 2P Xp X 0 Xp X Xp Xp X Xp Xp 0 Xp X Xp Xp X Xp X 0 Xp NP X Xp Xp 2P X X 3e X Xp Xp 2 X X X X X

PAGAG A AR AR AR AGAD iR ARAD iR ARAD i ARADLARAD I ARAT L ARALEARAG AR ADASAGAGADARAGAGAG A A Ad g



